
Model Activity Task
Class-V

Mathematics
Full Marks : 15

Write the answers of the following questions :
1. Choose the correct answer : 1×3=3

(i) The smallest 5-digit number among 20000, 02000, 90000 and 09000 is –

(a) 20000 (b) 90000 (c) 02000 (d) 09000

(ii) The number fifty thousand ten is –

(a) 51000 (b) 50001 (c) 50100 (d) 50010

(iii) The place value of 4 in the expansion of the number 60412 is –

(a) 40000 (b) 4000 (c) 400 (d) 40

2. Write true / false : 1×3=3

(i) The greatest 5-digit number is 99990.

(ii) The number of digits of the smallest and greatest 5-digit number is 5.

(iii) 40502 > 40052

3. (i) Write the greatest and smallest 5-digit numbers you can make with the following digits-

3, 6, 9, 7, 5. 2

(ii) Write the following number in the expanded form-

90009 2

(iii) Write any two multiples of 6 above 40. 2

4. Using sticks and balls represent the number (37029 + 1). 3

Students will write answers to these activity tasks in subject-specific exercise books at
home, and submit the exercise books to respective subject teachers after schools reopen.

Under no circumstance, students will go out of home.


